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o gE€2R+E 10,5683 x1.5%8Al 2t 62 761
S | 1,448,000& 1,448
202 o4 Hl 1,560 0 1,560
01 =M 1,560 0 1,560
OSRA2=2 X 0l 1,560




AR

= HHR2GFU(ERZ010104)
chol: ol 2y (E20ICI0jA) (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0 BRAIZZXN GHI(SE2IHEFIIA, 165
) 10,0003 10 123 1,200
0 3RAIZZX HH(EBI=2Y, 883)
10,0003 3 «12& 360
204 AR HH| 5,085 5,085 0
02 a2 x4 4,485 4,485 0
OAZEEEH SIIH "U'E HSEXH|
218, 7503 18 128 2,625
OLerAIIH "et"a M= E X
155,000 1 123 1,860
03 EZYRFH 600 600 0
OLEYIIH "et"s sl
50,0003 x1H » 128 600
Jl2dul(E2010i04) 26,748 25,641 1,107
Jl2d8Hl MRAS(E2010AHE) 26,748 25,641 1,107
201 Let24d] 16,620 15,513 1,107
01 At 22/l 16,620 15,513 1,107
O+t 54,5003« 15 123 +0.9 8,844
o=l 8,000 & x15H x6 A x 123 0.9 7,776
202 044l 7,128 7,128 0
01 SLHOYI 7,128 7,128 0
O=&0l 10,0003 *11H 62 122 0.9 7,128
203 YR =&l 3,000 3,000 0
04 RENSELR=LH 3,000 3,000 0
ORN2IYS =2 250,000& »12& 3,000




